Oﬁ ' Q)@& % Exposants de 10

Nom: Date: Note: _
—3x10% = 10* =
5,25+10= 10° =
7x10% = 2,78 x 10% =
4,51+ 10" = 4,73+ 10% =
4,43+ 10 = 1,63+ 10° =
7,64+ 10° = 8 x 10% =
9,72 x 10* = 6,72 % 10 =
7x10° = 10° =

7,09 x 10° = 3,82+ 10 =
9,93 x 10° = 3x10° =
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EE Q)@é) % Exposants de 10

Nom: Date: Note: __
—3 x 10* = —300 10* = 10000
5,25+10=0.525 10 = 100
7% 10% =700 2,78 x 10° =278
4,51+ 10% = 0.000451 4,73+ 10% = 0.0473
4,43 +10 = 0.443 1,63+ 10° = 0.0163
7,64 +10° = 0.00764 8 x 10% = 800
9,72 x 10* =972 6,72 x 10 =67.2
7 x 10° = 700000 10° = 1000
7,09 x 10° = 7090 3,82+ 10=10.382
9,93 x 10° = 9930 3 x 10° = 3000
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